Trigonometrisia kaavoja

(1) sin? 2 4 cos?x = 1
(2) sin(§ —x) = cosx , cos(§ — x) = sinwx,
tan(§ — ) = cotx , cot(§ — ) = tanx

(3) sin(m — ) = sinz , cos(m — ) = cosz,
tan(m —z) = —tanz , cot(m —x) = —cotx
(4) sin(x + y) = sinx cosy + cos z siny,

cos(x £ y) = cosxcosy Fsinzsiny

+
(5)  tan(z £ y) = L

__cotxcoty F 1
COt(IL’ = y> T coty £ cotw

(6) sin2x = 2sinz cos z,
cos2z = cos?x —sin?z =1 — 2sin®x = 2cos? z — 1,
tan2r = 2
cot 2x = C‘;tjo‘”zgl

(7)  sinz + siny = 2sin Z5 Y cos LI Y,
cos:c+cosy:2cos%cos =2,
COST — COSY = —2sin% sin 5.

(8) y=arcsinz,x € [-1,1] & siny=z,y € [-F, F].

(9) y=arccosz,z € [—1,1] & cosy = x,y € [0, 7]

(10) y=arctanz,x € R< tany =z,y €] — z, g[



